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i, Which of the following is the best heat conduictor? . - ‘ R
A Alumin'iﬁm | B_-"l"in © C-Irn | ‘\)Zfo;)per o B
© i, How hany cubic centinigtérs‘ are there inali_tr;f?"'l ' ‘ - -.
A-10 | T oo . D-10000 -
iv. What do we call therpull of gravity on an object? _ - -
" A-Mass | " B- Density C-A Momentum ‘ \i!- Wt:iglit "
v, Unitof doeft'_lcient of friction is _ : S |
A;ﬁ- i B- Kg‘ G- .Nm: : - \F!- i’xaps. notunit k
vi, Fon'qe\needed to pro.du,cp an acceleration of 1011'115‘2 in abali of ma;ss OJSkg‘_is '-. 7. .'.' R
AN Bl0sN LG9 'Vﬁ(-SN B
i, Two masses éliersepa,rfated bya distance r. If b()til masses are'douﬁléd, the force of iﬁterégtién Betw_een
the two masses changes by afactorof ____ B SRR ‘
'A-2 ' 4 cmn 014
viii. One horse ﬁd'ww (hp) is de‘ﬁne'dras | \ | N ‘ |
(A<250flbls- . B-350 Rbfs C- 450 felbls ’JSSO £ 1bs
_ix. . The energy stored in the sling shot is _ . | L _'
A- Gravitational PE B~ Chemical P.E. . iﬁlaétiqP'.E L D- Elactricéli’.}]‘.
X, The unit of strain is_ . - | | o o
- A- Kg m? B-Pa | C-Nm? . Y{Non@ :
xi. 107 stands_for prefix 7
- A- Atto B- Pico - Nino - D-'Fer_nto',.. -
xii. . 0.5mm in unils ofmeteris . o |
\ob0005m B-5x10°m - - 5x10%m D. 5x10°m
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SECTION-B . Marks:32

,' - Q_2: Answer any . EIGHT parts. Each part caneslequal marks.

B |

i

Descnbe four branches of Physws

Separate base physrcal quantities andt denved fxom the followmg

) Temperature Volume, Tlme Density, Length, Speed, Current, Energy'

iii.

iv.

vi,

viii.

ix.

- Does a speedometer measure a car’s. speed or veloclty?

- Differentiate between dlsplacement and dlstance A

Defitie force and its unit,” - Y '. ”

Why doesa hoatman tie his boat to & plller before a]lowmg the. passengers ‘to step on the river

: bank?

Vil

Xi, -

Note:

Q3

Q4

Ty

Can a smgle force applied to a hody ehange both its translatlonal and rotational motron‘?

Explain,

~ Why hghter and heav1er objects fall at: the same rate towards the earth?

Can a centrrpetal force ever do work on an object? Explam

~ Which materlal is more clastic, steel or rubber and why? ,
' How much heat | is requtred to increase the. temperature. of 0. SKg of water (w1th speclﬁc heat
capacity of 4190 Jkg k") from 10°C 16 65°C7"

| SECTION-—C U .;MarkerI‘ '

Attempt any THREE of the followmg All questlons carry equal marks

>

b)’
a)
b)

b) -

State and explain the terms Speed; Velocity and Aeceleratton L (4) _

A motorcyclist starts from rest and moves w1th uniform acceleration of 1 9. m/s (3 |
. for 12s Fmd the (i) Velocxty (11) Dlstance covered : '

_ What is centrlpetal force? Explain how centrlpetal force is used in bankmg of

roads and centrifugation, : _ 7 ')
- What'is couple? Explain with example. - @)
' How the value of ‘g’ varies with altttude? N ' R :(3)_ i'"_;

What is the free fall acceleration at the surface of the sun? As mass of sun is -
1.99 x 10 kg and havmg radius ofﬁ 96 x 10°%m, - - S @

A What is meant by linear thermal e:rpausion and vohime thermal expansion of solids?. (4)
. The volume of a brass ball is 800 ocm® at 20°C. Find out the new volume of the ball _
. if the temperature is raised 105 2°C The coefﬁclent of volumetnc expansxon of brass
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